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29 [lLE+I = lemm WEHIILHAR 38.6520] 139.6547| FH&EH(<1.8) | THRH(K4.1) 28 THRHEK18) | TIHH(K3.9) | THH(K25) | 009 009 8AH22H
30 [Tl T T IR 38.6495 139.8520( FIRHI(<1.6) | FHRH(<34) | THRHI(<5.2) | FIRHI(<1.6) [ FHRH(<B.2) | FHRHi(<2.1) | 006] 006 8H24H
31 | T4 T [EmET 8 E N 386108 139.8352| FIRHI(<1.7) | FHRH(K3.0) | THRH(<2.0) | FIRHI(<1.6) [ FIRH(<2.8) | FHRH(<2.0) | 005 004 7H30H
32 | X4 N EEET BERTI KRN 385935 139.8964 FIEHHI(<1.6) | FH&RH(<2.9) 2.0 THRH(1.8) | THEH(<3.2) | FHEH(<5.0) | 006 006 7H308
33 | KA = leEmEn MR nEENRE—1E 38.6524| 139.9125 Ti%H(<2.3) | THRHI(K5.1) 6.4 TRHEK2.1) | THEHK44) | THHK2.7) | 0o6) 006 10A1H
34 [T #&IR = |EmEr EREADEEKSNHOE 38.6495 140.0014] FHEH(<1.6) | THRHI(<35) | FHEH(<2.1) | FHEHI(1.6) | FHRH(<B.1) | FH&EH(<2.0) | 006] 006] 9A25H
35 |EE/ B8 = @ EEmET BRI 38.5563| 139.5558] TixtH(<2.4) | THRHI(K6.1) | FHRH(CB.1) | FIRHI(<2.5) | FHRH(<6.7) | F1HH(<85) | 010 009 7A31H
36 |KREFR 4 lemm  |Emws sk 385583 139.6886| FIRHI(<1.8) | FRHK3.T) | FRHEKSE.7) | FHRH(K1.9) | FiRH(4.0) 9.8 009 008 8A22H
37 |EHER N lEmEE [EEET e ks 38.5246) 139.7882 FIRHH(<1.7) | THRH(<3.6) 5.2 THEH(1.8) | THEH(K34) | FHEH(<25) | 007] o006 7H308
38 [imBxIL = |emm |nmmEm R EE R 38.5700] 139.9202| FiEH(<1.8) | THRH(K3.4) | FHEHI(<2.2) | THERHI(1.8) | FHRH(<3.5) | FH&H(<2.6) | 005 005 10A1H
39 | K5 = |lems |keasox 38.4703] 139.7609| FHEH(<1.7) | THH(<2.9) 2.6 THEH(1.9) | THRH(K3.6) | FHEH(<25) | 008 007 10A18
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